Appendix C
Worksheet

. According to the invoice, 72 pairs of shoes were ordered. Check the list
of remaining items and calculate the total pairs of shoes.

. After receiving the new shipment, the shopkeeper found that he had 83
pounds of black lead. How many pounds of black lead remained from the
previous year’s account?

. 149 kettles were remaining from the previous year and 350 kettles were
ordered. How many kettles are there in total?

. According to the invoice, there were 3456 pewter buttons ordered.
Check the list of the remaining trading items and calculate the total
number of buttons.

. After receiving the new shipment, the shopkeeper found that he had 278
needles. How many needles remained from the previous year’s account?



